


























id0 id1(id2 id3) {

id0 id2 = new id0(id4);

id0[] id1 = new id0[id2.id3()];

id0.id1(id2); id0.id3();

return new id0(id1, lit0);

}

id0 id1(id2 id3) {

id0 id2 = new id0(id4);

id0[] id1 = new id0[id2.id3()];

id0.id1(id2); id0.id3();

return new id0(id1, lit0);

}



id0 id1(id2 id3) {

id0 id2 = new id0(id4);

id0[] id1 = new id0[id2.id3()];

id0.id1(id2); id0.id3();

return new id0(id1, lit0);

}

id0 id1(id2 id3) {

id0 id2 = new id0(id4);

id0[] id1 = new id0[id2.id3()];

id0.id1(id2); id0.id3();

return new id0(id1, lit0);

}
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Komponente A Komponente B

























176 use cases in total, 150 contain cloning
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Ersparnis Aufwand = 𝟔%
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https://cqse.eu/clone-2310-oopst
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